CASBEE%

CASBEE-

CASBEE-NCb_2004v1.41

2007 11 1F 8F
538 S RC
450 480
3,765 4,380 /

0.3 So1 3.6 So2 3.6 Soz 29
Q-1 ) Q-3 5 5 5
0.4 1 >
' 4r 42 4r 4ar
|1 | | | , 4.0 .| 39 % .l
30 & i
LR-1 LR-3 2 L 2 b 2+
0.4 0.3 10 20
1 1 1
LR-2 0.3
LR
S gr= 3.4 SLR=0.4*SLR1 + 0.3 *SLR2 + 0.3 * SLR3
LR-1 LR-2 LR-3
SRt 35 Sz 35 S\r3 3.0
5 5 5 50
50 1
4 - 4 b 4 b
3 3 24 85 3
30 30 30 30 30
2t a3 2 ¢ 2t
20 20
1 1 1
-2 BEE Building Environmental Efficiency
BEE
BEE=3. BEE=1.5 =
100 3.0 BEE=1.0
A B
25 (Sg -1) 60 1.5
oo o B~ 25 (5-Skr) 41
50 (SRS . . . .. 552
2 BEEF0.5
! Q=25 (Sq-1) *Sq: Score of Q category
141 c SQ=0.4*SQ1+0.3*SQ2+ 0.3 *SQ3
0 @ L=25 (5-Sir) *S.g: Score of LR category
0 50 L 100 SLR=0.4*SLR1 + 0.3 * SLR2 + 0.3 * SLR3
B
-1
%
/ / /
co, kg-CO,/ kg-CO,/ kg-CO,/
m¥/ m?/ m¥/
LCCO, kg-CO,/ kg-CO,/ kg-CO,/
LC / / /
LC / / /




